Summer Math Packet to Prepare for Precalculus and Honors Precalculus

(Scroll to the end to check your answers.)

Evaluate each function.
1) f(n)=3-5" Find f(0) 2) h(n) =3n + 5; Find h(-8)

3) g(a)=a?+3a; Find g(3 — a) . (x)
4) g(x) = —4x + 5; Find g|~
) o(x)=—4x+5; Find g 2

Perform the indicated operation.

5) h(t)=-3t+1 6) g(x)=x> -4
g(t)=3t—4 h(x) =3x -3
Find h(t) + g(t) Find (2g — 5h)(x)

7) gla)=2a+4 8) f(t)=4t+2
h(a) = a* + 2a? g(t) = 3t
Find g(9) = h(9) Find (f - g)(-4)

9) gla)=-3a>-4 10) f(n)=2n
h(a)=a+3 gn)=2n-5
Find (%)(—3a) Find (f — g)(g)

11) g(t)=t+3 12) f(n)=3n

h(t):4t—3 g(n):n+1
Find (g h)(t) Find (f o g)(n)

Simplify each expression.

13) (7x+6x>+1) = (1 + 8x + 8x?) 14) (6x% + 6+ 8x*) + (x> —4 + 2x%)

Find each product.
15) (7r = 1)(r—6) 16) (4n—8)(5n+38)

17) (2p*-5p-3)4p+7) 18) (4a% + 6a - 6)(6a — 8)

19) (5 —4x)(5 +4x) 20) (x —4)?



Factor each completely.

21) a* - 12a+36

23) 30p* +96p + 18

25) 4m* -9

27) 9a* + 30a + 25

29) 16n° +56n? — 14n — 49

31) 64x° — 125

Solve each equation by factoring.

33) r2+4r-21=0

35) 5n*-20n+7=7

37) 15x* — 120X + 454 =7x* + 6

39) —48 + 4n = -2n?

Divide.

41) (x> =3x* = 15x—28) = (x - 6)

22) 4x* + 8x— 320

24) 38’ +7a-6

26) 9n* —4

28) 25n* —10n + 1

30) 6v° —7v? + 12v— 14

32) x> — 125

34) r’-4=0

36) 4x* +16x =—8x — 36

38) 7n* — 18n + 48 = —4n + 6n°

40) 4x* - 16x=0

42) (n* +4n*-53n-78) = (n+9)



Write each expression in exponential form.

43) \v 44y (</sv)*
45) \/5x2 46) (V3r)*
47y (Vr)’ 48) Jeb

Write each expression in radical form.

1 3

49) (3p)° 50) (2x)°
2 s
51) (7r)° 52) (7x)°
' '
53) (10x)° 54) a’
Simplify.
55) ' 72k* 56) \Vo6n’
57) /80 58) 45
59) —3+/12 —3+/8 = 2/3 60) —2~/45 —2~/2 —2/a5
61) 15 -6 62) Ve6(~/2 +3)
63) V5(58/10 + \6) 64) (1-~2)(-4-2+2)
V16 s

65) —— 66) ——
N ) 2



V3 V5343
NN O Vs

Simplify. Your answer should contain only positive exponents.

69) (a*b?)’ 70) (3xy%)’
=) -4
71 4yX2 72) 4: -
4x 3uv
3 4)2\3 m=2n* . nm2
3 (M) 74y L1TL
vut - 2v (2nm )
75) 2n~ - 3m°n~’ 76) 2yx - 4x°

Solve each equation. Remember to check for extraneous solutions.

77)2+L:% 78) 6:3b—_9+i
4 4n n 2b 2b

4k +8 3  3k-15 3 1 1

79 +—= 80) — - —=—
) k? k2 2k? )5x2 5% 5x°
81) 3a+15:§+l $2) k+6:§ k+1
4 4 4 4k 4 k

Find the value of the trig function indicated. Make sure your answers are rationalized.

83) cos 0 84) tan 0
[]

85) cos 6 86) sec 4

[] []
S
65



ANSWER KEY:

Summer Math Packet to Prepare for Precalculus and Honors Precalculus

Evaluate each function.

1) f(n)=3-5" Find f(0) 2) h(n) =3n + 5; Find h(-8)
3 197
3) g(a)=a’?+3a; Find g(3 — a) . (x)
4) g\x)=—-4x+5; Find g{—
18 — 9a + a* ) oy ey
—X+5
Perform the indicated operation.
5) h(t)=-3t+1 6) g(x)=x>-4
o) =3t—4 h(x) = 3x - 3
Find h(t) + g(t) Find (2g — 5h)(x)
-3 2x2 - 15x+ 7
7) gla)=2a+4 2 8) f(t)=4t+2
h(a)=a®+2a> 8! g(t) = 3t
Find g(9) = h(9) Find (f - g)(-4)
i 168
9) gla)=—3a2-4 22 —% 10) f(n)=2n
h(a)=a+3 —3a+3 gn)=2n-5
Find (ﬂ)(_ga) Find ( - g)(ﬂ)
h 3
5
11) g(t)=t+3 12) f(n)=3n
h(t):4t—3 g(n):n+1
Find (g h)(t) Find (f o g)(n)
4t 3n+3
Simplify each expression.
13) (7x+6x>+1) = (1 + 8x + 8x?) 14) (6x% + 6+ 8x*) + (x> —4 + 2x%)
—2x% =X 10x* + 7x2 + 2
Find each product.
15) (7r = 1)(r—6) 16) (4n—8)(5n+38)
7r? —43r+6 20n? — 8n — 64
17) (2p*-5p-3)4p+7) 18) (4a% + 6a— 6)(6a —8)
8p’ —6p* —47p-21 24a° + 4a’ — 84a + 48
19) (5 - 4x)(5 + 4x) 20) (x—4)°

25— 16x> x> —8x+ 16



Factor each completely.

21) a* - 12a+36
(a-6)°
23) 30p* +96p + 18
6(5p+1)(p+3)
25) 4m* -9
(2m +3)(2m - 3)
27) 9a* + 30a + 25
(3a+5)°
29) 16n° +56n? — 14n — 49
(8n%2=7)2n+7)
31) 64x° — 125

(4x — 5)(16X% + 20x + 25)

Solve each equation by factoring.
33) r2+4r-21=0

{_75 3}
35) 5n*-20n+7=7

14, 0|

37) 15x* — 120X + 454 =7x* + 6
18,7

39) —48 + 4n = -2n?
-6, 4]

Divide.

41) (x> =3x2 = 15x—28) = (x— 6)

X2 +3X+3—
X—06

22) 4x* + 8x— 320
4(x - 8)(x + 10)

24) 3a’+7a-6
(3a-2)a+3)

26) 9n* —4
(3n+2)3n-2)

28) 25n* —10n + 1
(5n-1)

30) 6v° —7v? + 12v— 14
(v +2)(6v—7)

32) x> — 125

(—x = 5)(x* = 5% + 25)

34) r’-4=0
{_23 2}

36) 4x* +16x =—8x — 36
-3]
38) 7n% — 18n + 48 = —4n + 6n°

8, 6

40) 4x* —16x=0
14, 0]

42) (n* +4n*-53n-78) = (n+9)

n>-5n-8—

n+9



Write each expression in exponential form.

43) v
¥
45) \/5x2
!
(5x%)°

47) (Nr)’

r

N |

Write each expression in radical form.

W | —

49) (3p)

3/3 D

(SR

51) (7r)
( 3 7|")2
1
53) (10x)°
J10x
Simplify.
55) \/72k*
6k>~/2

57) /80
a5

59) —3+/12 —3+/8 = 2/3
83 -62

61) V15 -6
3310

63) V5(57/10 + \6)
252 + /30

V16 4

65) —— —

NJo 3

56) V96n*
4n*6

58) /45
35

60) —2~/45 —2~/2 —2/a5
_12+/5-2/2

62) Ve6(~/2 +3)
23 +3+6

64) (1-~/2)(—4-2+2)
22

NEE
66) — =2 —
)3V2o6



N3 1543 )\/§—3\/§ 335 -5-93 4315

67) 68
Vs-+3 2 3+4/5 4
Simplify. Your answer should contain only positive exponents.
4, 2\3 -3\3 27X3
69) (a’b?) 70) (3xy™)" =2
a12b6 y
Avy 2 w4’
71y X L 72y A
4X2 X 3U73V74 3
3 -2 4 2
- ((2u3v4)2) 74 TN nm-
— -1
2vu® - 2v (2nm?*)
u()VIS 2n6m4
75) 20 3m?n > O 76) 2yx - 4x?
) 2n " -3m™n 3 ) 2yx - 4X
8yX

Solve each equation. Remember to check for extraneous solutions.

m 2. L2
4 4n n

7

3

78) 6=—""+—
) 3

2b 2b

EREi

4k+8 3 3k-15 37 3 1 1
79 +—= — 80) — - —=—
) k* k* o 2k? { 5 } ) 5x*  5x  5x?
2
1 1 k k+1 (1
81) 3a+ 5:§+_ 82) +6:i+ + —
4a 4 4 4k 4 k 3
5
Find the value of the trig function indicated. Make sure your answers are rationalized.
17 3
83) cos @ — 84) tan 0 —
Ny 17 19 8 - 4
0
19 10 6
2 12V2
85) cos @ — 86) sec 4 &
12 3 11 23





